Résultats et Classement des Rencontres du C.D.C. VETERANS Division 2 groupe CENTRE 1

~ | GNP [ptsGlptsP GA | GNP .ﬁtsGIptsPI
~ PONT HEBERT 2 [ 30 | 06 | +24 | ~ PONT HEBERT 3 1 2 | 08 |
PONT HEBERT 3 1 06 | 30 | 24 AGNEAUX 3 1 22 14 | +08 |
LA HAYE 3 1 | 04 | 32 | 28 PONT HEBERT 2 1 0 | 36 | -3
_ AGNEAUX 3 1 32 | 04 | 428 | SAINT LO 3 1 36 | 0 | +3
~ TORIGNY 3 1 06 | 30 @ -4 LA HAYE 3 1 12 24 | 12
SAINT LO 3 1 30 | 06 | +24 COUTANCES 1 1 12 | +12
e G [ N [ P [ptsGptsP| GA R GNP ptSGinsP] GA |
SAINT LO 3 1 24 | 12 | +12 | SAINT LO 3 1 2 | 08
~ AGNEAUX 3 1 2 | 24 | 2 COUTANCES 1 1 22 14 +08
_ PONT HEBERT 3 1|02 | 3 | 32 TORIGNY 3 1 16 | 20 | -04
COUTANCES 1 1 34 | 02 | 432 AGNEAUX 3 1 20 | 16 | +04
TORIGNY 3 1 | 04 32 28 | PONT HEBERT 3 . 1 10 | 26 | -16
PONT HEBERT 2 1 32 04 | 428 | LA HAYE 3 | | 26 | 10 | +16
- i G [ N[ P [ptsG[ptsP| GA | | R G | N | [pts G| pts P| GA
~ TORIGNY 3 1 16 | 20 | -04 | TORIGNY 3 1 I 20 | 16 | +04
COUTANCES 1 1 20 | 16 | +04 LA HAYE 3 1 16 | 20 @ -04
SAINT LO 3 1 3 [ | 432 PONT HEBERT 2 1 20 | 16 | +04 |
LA HAYE 3 102 | 4 | COUTANCES 1 1 16 | 20 | -04
PONT HEBERT 2 11 10 | 26 | -16 | PONT HEBERT 3 1 | 14 | 22 | 08
~ AGNEAUX 3 1 L 26 | 10 | +16 | SAINT LO 3 1 22 +08
CLASSEMENT | Pps | G | N P | GA Jouéstforfalw
1| SAINT LO 3 16 5 1 | +104 | 6 |
2 ‘ COUTANCES 1 13 | 4 | 1 [ +2] 35
3| AGNEAUX 3 13 4 1 | +44 5
4| PONT HEBERT 2 | 11 | 3 2 | +4 5
5| TORIGNY 3 7 1 4 -56 5 -
6 LAHAYE3 | 7 | 1 | 4 | 6 5
o |7 PONTHEBERT 3 | 5 | 5 88 | 5
Résultats et Classement des Rencontres du C.D.C. VETERANS D|v1smn2 upe CENTRE 2
(BTN P |ptsGptsP| GA | G % N | P [ptsG[ptsP| GA
TORIGNY 1 1| _ 30 | 06 | 424 TORIGNY 2 | 1 16 | 20 | -04 |
TORIGNY 2 1 06 | 30 | 24 | CONDE 3 L1 20 16 | +04
B CONDE 2 1 26 10 | +16 TORIGNY 1 1 30 06 | +24
CONDE 3 1 10 26 | -16 GOUVILLE 2 1 06 30 | -24
GOUVILLE 1 1 28 08 | +20 CONDE 2 1 2 | 14 | 408
GOUVILLE 2 1 28 | 20 | MONTMARTIN 2 1 | 14 | 22 08
G ’N TP p’cs GlptsP| GA | G | N[ P [ptsG|ptsP] GA |
CONDE 3 | 20 | 16 | +04 GOUVILLE 2 1 | 16 | 20 -04
_ GOUVILLE 2 [ 1 16 | 20 | -04 | | MONTMARTIN 2 1 L 120 | 16 | +04
TORIGNY 2 1 06 | 30 | -24 CONDE 3 1 14 | 22 | 08
MONTMARTIN 2 1 30 | 06 | +24 GOUVILLE 1 L | 2 | 14 +08
_ TORIGNY 1 L1 12 24 | 2 TORIGNY 2 1 10 | 26 | -16
GOUVILLE 1 1 24 | 12 | +12 CONDE 2 1 26 | 10 | +16
L |G I N]| P [ptsGlptsP| GA | | o) | G IN| P [ptsGlptsP| GA
~ MONTMARTIN 2 | 1 2 | 14 | +08 CONDE 2 1 20 16 | +04
_ GOUVILLE 1 L1 14 2 08 r GOUVILLE 1 1 16 20 | -04
CONDE 2 1 ’ 28 | 08 | +20 | MONTMARTIN 2 1 24 | 412
~ GOUVILLE 2 1 | o8 | 28 2T‘ TORIGNY 1 |1 12 | 24 .12
_ TORIGNY 1 1 24 | 12 412 GOUVILLE 2 1 2 | 14 | +08
~ CONDE 3 1 12 | 24 | 12 | TORIGNY 2 | 1 14 | 22 | -8
o | CLASSEMENT Ps | G | N | P | GA [Jouésfforfaits
[1] CONDE 2 15 s | +64 | 5
|1 | MONTMARTIN 2 | 13 | 4 1 | +40 | 5
3|  TORIGNY 1 11 3 2 436 | 5 -
4 GOUVILLE 1 1 | 3 2 | +28 5
5 CONDE 3 9 | 2 3 | 28| 5
i3 GOUVILLE 2 8 1 . 5 | 64 | 6 |
7| TORIGNY 2 s | s |6 | 5 |




